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Seat No.: ________                                                           Enrolment No.___________ 
 

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma Engineering - SEMESTER–VI • EXAMINATION – SUMMER 2013 

 

Subject Code: 361903 Date: 13/05/2013        

Subject Name: Industrial Engineering 

Time: 10:30 am TO 01:00 pm Total Marks: 70 
Instructions: 

1. Attempt all questions.  

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks.  

4. English version is considered to be Authentic 

 

Q.1 (a) Write short Notes on: 1. Zero defect 2. JIT 07 

 (b) Explain following terms: 1. Kaizen 2. Re engineering 3. TQM 07 

    
Q.2 (a) List various tools of management to increase productivity and explain factors 

influencing it. 
07 

 (b) Write short notes on: 1. SIMO chart 2. Man- M/C chart 07 

  OR  

 (b) Explain the Significance of O C Curve. Show the effect of changing sample 

size on O C curve. 
07 

    
Q.3 (a) X bar and R charts are maintained taking sample size-4 for production of I C 

engine, piston. Information is that as under. 

X double bar = 30 and σ=3. If d2=2.559, A2=0.928, D3=0 and D4= 2.785 then 

calculate the control limits for X bar and R charts. Show control charts. 

05 

 (b) Do as directed. 

1. Differentiate between variables and attribute charts. 

2. Eight television sets inspected in which defects were finding as under. 

Draw appropriate charts for the given data. 

TV assly 1 2 3 4 5 6 7 8 

Defectives 0 3 13 4 2 5 0 3  

09 

  OR 

 
 

Q.3 (a) Discuss the various activities which are required to get flow process chart. 05 

 (b) Do as directed. 

1. Explain one of the work measurement method named as 

PREDETERMINED MOTION TIME SYSTEM along with example. 

2. Find standard time per product using activity sampling method if 

(a) Production per shift of 8 hrs = 125 products 

(b) Time of production as per activity sampling= 70% 

(c) Rating factor = 115 and allowance = 20% 

09 

    
Q.4 (a)   Explain emerging trends in Industrial engineering in the fields of 

manufacturing and service sectors. 
07 

 (b) Define ANTHROPOMETRY. How their data are useful in product design?  07 

  OR  

Q. 4 (a) Define ERGONOMICS. Explain the purpose to adapt in design. 07 

 (b) Explain Job Evaluation. State the objective and use of Incentives.  07 

    
Q.5 (a) Give the definition and principles of statistical tolerance. 07 

 (b) Explain the use and principle of Acceptance sampling compared to Random 

sampling. 
07 
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  OR  

Q.5 (a) Explain the concept of Reliability. What is its significance in Industrial 

Engineering? 
07 

 (b) What is Job enrichment? Explain the importance of Job analysis. 07 
 

************ 

�જરાતી�જરાતી�જરાતી�જરાતીુુ ુુ  

����				. ૧૧૧૧ અઅઅઅ �ંક ન�ધ લખોૂ . ૧. ઝીરો �ડફ�ટ � ૨.  . આઈ. ટ#. ૦૭૦૭૦૭૦૭ 

 બબબબ નીચેના પદો ની +યા-યા આપો. 

૧. કાઈઝાન  ૨. ર# એ/0નીર1ગ ૩. ટ#. ક4 ં.ુ એમ. 

૦૭૦૭૦૭૦૭ 

          
����				. ૨૨૨૨ અઅઅઅ �ોડકટ#વીટ# વધારવા માટના ંઅસરકારક પ�રબળો િવિવધ મેનેજમે/ટ �:સ ની � ૂ

મદદથી જણાવો. 

૦૭૦૭૦૭૦૭ 

 બબબબ �ંક ન�ધ લખોૂ . ૧. િસમો ચાટ=  ૨. મેન-મશીન ચાટ=  ૦૭૦૭૦૭૦૭ 

  અથવાઅથવાઅથવાઅથવા  

 બબબબ @ સી કવ= A મહCવ સમDવો તથા સેEપલ સાઈઝ બદલવાની અસરો ુ

સમDવો. 

૦૭૦૭૦૭૦૭ 

          
����				. ૩૩૩૩ અઅઅઅ આઈ.સી એ/0ન પીFટન A �ોડ�શન કરતી ફમ= ના ંઇ/Fપેકશન સેEપલ સાઈઝ ુ

૪Iજબ કરતા નીચેની મા�હતી મળે છેુ . X ડબલ બાર=૩૦ અને િસMમા= ૩ છે. 

જો A૨= ૦.૯૨૮, D૩=૦, D૪= ૨.૭૮૫ તો કંTોલ Uલમીટ દશા=વતો યોMય ચાટ= 

દોરો. 

૦૦૦૦૫૫૫૫ 

 બબબબ માMયા Iજબ કરોુ . 

૧. વે�રયેબલ અને એT#Vટ નો તફાવત આપોુ . 

૨. આઠ ટલીિવઝન સેટ A ઇ/Fપેકશન કરતા નીચે Iજબ ની મા�હતી મળ#� ુ ુ . 

    યોMય ચાટ=  દોરો. 

ટલીિવઝન�  ૧ ૨ ૩ ૪ ૫ ૬ ૭ ૮ 

ખામી@ ૦ ૩ ૧૩ ૪ ૨ ૫ ૦ ૩ 
 

૦૦૦૦૯૯૯૯ 

  અથવાઅથવાઅથવાઅથવા  

����				. ૩૩૩૩ અઅઅઅ Yલો  �ોસેસ ચાટ=  માટ જZર# એવી િવિવધ કાય= પ[િત િવષે ચચા= કરો� . ૦૦૦૦૫૫૫૫ 

 બબબબ માMયા Iજબ કરોુ  

૧. વક= મેઝરમે/ટ પ[િત@ માની િ�ડ#ટમા=ઈનડ મોશન ટાઇમ સીFટમ િવષે     

ઉદાહરણ સહ#ત સમDવો. 

૨.  એ�ટ#વીટ# સેEપલ1ગ પ[િતની મદદથી �ોડકટ દ#ઠ Fટા/ડરડ ટાઇમ શોધો.  

     જો (અ) ૮ કલાક મા ૧૨૫ નગં બને  

         (બ) એ�ટ#વીટ# સેEપલ1ગ Iજબ �ોડ�શન નો ટાઇમ ુ ૭૦% હોય 

         (ક)  ર�ટaગફ�ટર� � ૧૧૫ અને એ:લાવસં ૨૦% હોય 

૦૦૦૦૯૯૯૯ 
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����				. ૪૪૪૪ અઅઅઅ ઇ/ડFટર#યલ એ/0નીયર1ગ bેcે ઉદભવતા નવા અUભગમો ક   મે/4ફ�ચર1ગ� ુ �  

અને સિવeસ bેcમા છે તેની અગCયતા સમDવો. 

૦૭૦૭૦૭૦૭ 

 બબબબ એ/fોપોમેT# ની +યા-યા લખો. તેની �ોડકટ ડ#ઝાઇનમા અગCયતા જણાવો. 
  

૦૭૦૭૦૭૦૭ 

  અથવાઅથવાઅથવાઅથવા  

����				. ૪૪૪૪ અઅઅઅ એગgનોમી�સ ની +યા-યા લખો. ડ#ઝાઇનમા તેને શા માટ Fવીકારવી જોઈએ� ? ૦૭૦૭૦૭૦૭ 

 બબબબ જોબ ઈવો:4શન સમDવોુ . �ોCસાહન ના ંહi અને ઉપયોગ જણાવો� ુ . 
 

 

૦૭૦૭૦૭૦૭ 

          
����				. ૫૫૫૫ અઅઅઅ Fટટ#Fટ#કલ ટોલર/સ નો હi અને ઉપયોગ સમDવો� � ુ . ૦૭૦૭૦૭૦૭ 

 બબબબ ર/ડમ સેEપલ1ગ ની સરખામણીએ એ�સેjટ/સ સેEપલ1ગ ના ં હiઓ અને � � ુ

ઉપયોગ સમDવો. 

૦૭૦૭૦૭૦૭ 

  અથવાઅથવાઅથવાઅથવા  

����				. ૫૫૫૫ અઅઅઅ ર#લાયેબીલીટ# એટલે l ું? ઉmોગો મા તેની અસરો સમDવો. ૦૭૦૭૦૭૦૭ 

 બબબબ જોબ એનર#ચમે/ટ એટલે l ું? જોબ એનાલીસીસ A મહCવસમDવોુ . ૦૭૦૭૦૭૦૭ 

 

************ 


